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A B C D yl
Sample 1 2.5 2.1 2.1 1.8 8.5
Sample 2 3.4 2.6 22 2.5 10.7
Sample 3 2.5 2.8 2% 2.4 10.2
Sample 4 2.4 2.5 1.6 2.1 8.6
y.. 38
treat =t—1 4-1=3

error = t (rs_l) 404-1)=12

Total=tr — 1 4*4-1=15
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TSS = Yyij2 —
tr

= (2.5)%+ (2.1)% + (2.1)? + (1.8)% + (3.4)* + (2.6)* + (2.2)* + (2.5)

+ (2.5)% + (2.8)% + (2.5)% + (2.4)* + (2.4)* + (2.5)?

(38)2
+ (1.6)% + (2.1)% — e

=6.25+441+ 441+ 3.24+ 11.56 + 6.76,.:,4.84 + 6.25 + 6.25

1444

+7.84 + 6.25+ 5.76 + 5,76 + 6.25 + 2.56 + 4.41 — BT

=92.8 - 90.25 = 2.55
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cep iy 0-)
r tr
_ (85 +(107)7 +(102)° + (86)*
= y _
72.25 + 114.49 + 104.04 + 73.96
= ~ 90.25
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_ 364.74
T4

=91.185 — 90.25 = 0.935

— 90.25
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SSE = yyij2 — 2

=928 - 91.185 =1.615

~ SSE =TSS — SSt

= 2.55—- 0935 =1.615
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roat 3 0935 | 0311 | 2.32 0.01
AR
orror 12 | 1615 | 0.134 Mg | 5.5
Total 15 2.55
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A B C D yi
1 325 350 300 375 1350
2 250 300 290 840
3 150 200 250 600
4 450 500 390 490 1830
y.. 4620
treat =t—1 4-1=173

error=n —t 14 — 4 =~10

Total =n -1 14-1=13
(y..)2
TSS.L Yyij2 — =
4620)2
::(325)24—(350)2+-(300)2+-~~+(490)2—-g—jizl—
21344400
= 105625+ 122500 + 90000 + --- + 240100 — Ry —

= 1665050 — 1524600 = 140450
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SSt =
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B (1350)2+ (840)2 N (600)2 N (1830)2  (4620)2
4 3 3 4 14
B 1822500+ 705600 N 360000+ 3348900 21344400
B 4 3 3 4 14

= 455625 + 235200 + 120000 + 837225 - 1524600
= 1648050 - 1524600 = 123450
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SSE = yyij2 — 2

= 1665050 — 1648050 = 17000

s SSE =TSS — SSt

= 140450 — 123450.= 17000
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123450
= T = 41150
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17000
= = 1700
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F—Cal =——-
MSE
41150
F—-Cal=——=
S.V D.F SS M=S F—cal F-tab
treat 3 123450\ 41150 | 24.2 0.05 0.01
error 10 17000 1700 3.71 6.55
Total 13| 140450
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